

Research Article

Taekyun Kim and Hye Kyung Kim*

A note on λ -analogue of Lah numbers and λ -analogue of r -Lah numbers

<https://doi.org/10.1515/dema-2024-0065>

received December 14, 2022; accepted August 21, 2024

Abstract: In this study, we introduce the λ -analogue of Lah numbers and λ -analogue of r -Lah numbers in the view of degenerate version, respectively. We investigate their properties including recurrence relation and several identities of λ -analogue of Lah numbers arising from degenerate differential operators. Using these new identities, we study the normal ordering of degenerate integral power of the number operator in terms of boson operators, which is represented by means of λ -analogue of Lah numbers and λ -analogue of r -Lah numbers, respectively.

Keywords: Lah numbers, degenerate Stirling numbers of the second kind, degenerate differential operator, normal ordering, number operator

MSC 2020: 05A17, 05A18, 11B73

1 Introduction

The degenerate Stirling numbers of the first kind (5) and the second kind (6) have been studied by some scholars, starting with Carlitz [1]. In detail, when $\lambda \rightarrow 0$ in (5) and (6), we obtain the Stirling numbers. However, we cannot consider degenerate versions of Lah numbers from Lah numbers (15). From this point of view, we consider the λ -analogue r -Lah numbers (27) that replaces the rising factorials and the falling factorials with the generalized rising factorials and the generalized falling factorials on both sides at the same time. When $\lambda \rightarrow 1$ in (27), we obtain the Lah numbers. The outline of this article is as follows. In Section 1, we recall the Stirling numbers of both kinds, the degenerate Stirling numbers of both kinds and the unsigned Stirling numbers of the first kind. We remind the reader of the normal ordering in terms of boson operators and its analogue version, namely the normal ordering of an analogue integral power of the number operators. In Section 2, we consider the λ -analogue of Lah numbers in the view of degenerate version and derive several identities including these numbers. From these new identities, we investigate the normal ordering of a degenerate integral power of the number operator in terms of boson operators, which is represented by means of analogue of Lah numbers and the degenerate Stirling numbers of the second kind. In Section 3, we introduce the λ -analogue of r -Lah numbers in the view of degenerate version and explore some interesting identities including the normal ordering of analogue integral power of the number operator in terms of boson operators, which is represented by means of analogue of r -Lah numbers and the degenerate Stirling numbers of the second kind.

First, we introduce several definitions and properties needed in this article.

* **Corresponding author: Hye Kyung Kim**, Department of Mathematics Education, Daegu Catholic University, Gyeongsan 38430, Republic of Korea, e-mail: hkkim@cu.ac.kr

Taekyun Kim: Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea, e-mail: tkkim@kw.ac.kr

For any $\lambda \in \mathbb{R}$, the degenerate exponential function $e_\lambda^x(t)$ is given by

$$e_\lambda^x(t) = (1 + \lambda t)^\frac{x}{\lambda} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} \quad (\text{see [1-7]}). \quad (1)$$

where $(x)_{0,\lambda} = 1$ and $(x)_{n,\lambda} = x(x - \lambda) \dots (x - (n - 1)\lambda)$, $(n \geq 1)$.

When $\lambda \rightarrow 0$, we note that $(x)_0 = 1$, $(x)_n = x(x - 1)(x - 2) \dots (x - n + 1)$, and $e_\lambda^x(t) = e^{xt}$.

Kim and Kim [2] introduced the degenerate logarithm function $\log_\lambda(1 + t)$, which is the inverse of the degenerate exponential function $e_\lambda(t)$, as follows:

$$\log_\lambda(1 + t) = \sum_{n=1}^{\infty} \lambda^{n-1} (1)_{n,1/\lambda} \frac{t^n}{n!} = \frac{1}{\lambda} \sum_{n=1}^{\infty} (\lambda)_n \frac{t^n}{n!} = \frac{1}{\lambda} ((1 + t)^\lambda - 1) \quad (\text{see [2]}). \quad (2)$$

Here, $\log_\lambda(t) = \frac{1}{\lambda}(t^\lambda - 1)$ is the compositional inverse of $e_\lambda(t)$ satisfying $\log_\lambda(e_\lambda(t)) = e_\lambda(\log_\lambda(t)) = t$.

When $\lambda \rightarrow 0$, we have $\log_\lambda(t) = \log t$.

For $n \geq 0$, the Stirling numbers of the first and second kind are defined by, respectively,

$$(x)_n = \sum_{l=0}^n S_1(n, l) x^l, \quad \text{and} \quad \frac{1}{k!} (\log(1 + t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!} \quad (\text{see [1, 8-10]}) \quad (3)$$

and

$$x^n = \sum_{l=0}^n S_2(n, l) (x)_l, \quad \text{and} \quad \frac{1}{k!} (e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!} \quad (\text{see [1, 8-12]}). \quad (4)$$

The degenerate Stirling numbers of the second kind are given by

$$(x)_{n,\lambda} = \sum_{l=0}^n S_{2,\lambda}(n, l) (x)_l, \quad (n \geq 0) \quad (\text{see [2,3]}). \quad (5)$$

As an inversion formula of the degenerate Stirling numbers of the second kind, the degenerate Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_{1,\lambda}(n, l) (x)_{l,\lambda}, \quad (n \geq 0) \quad (\text{see [3,7]}). \quad (6)$$

From (5) and (6), it is well known that

$$\frac{1}{k!} (e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0) \quad (\text{see [2,3,6,7]}) \quad (7)$$

and

$$\frac{1}{k!} (\log_\lambda(1 + t))^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [3,7]}). \quad (8)$$

When $\lambda \rightarrow 0$, we note that $S_{1,\lambda}(n, k) = S_1(n, k)$ and $S_{2,\lambda}(n, k) = S_2(n, k)$.

The partial degenerate Bell polynomials were introduced by

$$\text{bel}_{n,\lambda}(x) = \sum_{j=1}^n S_{2,\lambda}(n, j) x^j, \quad (n \geq 0) \quad (\text{see [6,7]}). \quad (9)$$

When $x = 1$, we denote $\text{bel}_{n,\lambda}(1)$ simply by $\text{bel}_{n,\lambda}$.

From (9), we obtain the generating function of $\text{bel}_{n,\lambda}(x)$

$$e^{x(e_\lambda(t)-1)} = \sum_{n=0}^{\infty} \text{bel}_{n,\lambda}(x) \frac{t^n}{n!} \quad (\text{see [6,7,12]}). \quad (10)$$

The rising factorial sequences and the generalized rising factorial sequences are given by

$$\langle x \rangle_0 = 1, \quad \langle x \rangle_n = x(x + 1) \dots (x + n - 1), \quad (n \geq 1) \quad (11)$$

and

$$\langle x \rangle_{0,\lambda} = 1, \quad \langle x \rangle_{n,\lambda} = x(x + \lambda) \dots (x + (n-1)\lambda), \quad (n \geq 1) \text{ (see [3])}, \quad (12)$$

respectively.

It is well known that

$$\frac{1}{(1-t)^x} = \sum_{n=0}^{\infty} \langle x \rangle_n \frac{t^n}{n!} \quad (\text{see [9]}). \quad (13)$$

As a generalization of Stirling numbers of the second kind, the r -Stirling numbers $\left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}_r$ of the second kind count the partitions of $1, 2, \dots, n+r$ into $k+r$ nonempty subsets such that $1, 2, \dots, r$ are contained in distinct blocks ($n \geq k \geq 0, r \geq 0$).

When $r = 0$, these numbers are the ordinary Stirling numbers of the second kind.

The degenerate r -Stirling numbers of the second kind $\left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}_{r,\lambda}$ are given by

$$(x+r)_{n,\lambda} = \sum_{k=0}^n \left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}_{r,\lambda} (x)_k, \quad (n, k \geq 0) \text{ (see [5])}. \quad (14)$$

The Lah numbers are defined by $\langle x \rangle_n$ and $(x)_n$, ($n \geq 0$), to be

$$\langle x \rangle_n = \sum_{k=0}^n L(n, k) (x)_k, \quad (n \geq 0) \text{ (see [4,9,10])}, \quad (15)$$

or

$$(x)_n = \sum_{k=0}^n (-1)^{n-k} L(n, k) \langle x \rangle_k \quad (\text{see [9,10]}). \quad (16)$$

From (15), we note that

$$\frac{1}{k!} \left(\frac{t}{1-t} \right)^k = \sum_{n=k}^{\infty} L(n, k) \frac{t^n}{n!}, \quad (k \geq 0) \text{ (see [4,9])} \quad (17)$$

and

$$L(n, k) = \frac{n!}{k!} \left\{ \begin{smallmatrix} n-1 \\ k-1 \end{smallmatrix} \right\}, \quad (n, k \geq 0) \text{ (see [4,9,10])}. \quad (18)$$

Recently, Kim and Kim [3] introduced the degenerate differential operator given by

$$\left(x \frac{d}{dx} \right)_{k,\lambda} = \left(x \frac{d}{dx} \right) \left(x \frac{d}{dx} - \lambda \right) \dots \left(x \frac{d}{dx} - (k-1)\lambda \right). \quad (19)$$

From (19), we note that

$$\left(x \frac{d}{dx} \right)_{k,\lambda} x^n = (n)_{k,\lambda} x^n. \quad (20)$$

For a formal power series $f(x) = \sum_{n=0}^{\infty} a_n x^n$ and $k \geq 0$, the degenerate differential equation is given by

$$\left(x \frac{d}{dx} \right)_{k,\lambda} f(x) = \sum_{j=0}^k S_{2,\lambda}(k, j) x^j \left(\frac{d}{dx} \right)^j f(x) \quad (\text{see [3]}). \quad (21)$$

From (21), we have

$$\left(x \frac{d}{dx} \right)_{k,\lambda} = \sum_{j=0}^k S_{2,\lambda}(k, j) x^j \left(\frac{d}{dx} \right)^j \quad (\text{see [3]}). \quad (22)$$

Let a and a^+ be the boson annihilation and creation operators satisfying the commutation relation

$$[a, a^+] = aa^+ - a^+a = 1 \quad (\text{see [5,13–16]}). \quad (23)$$

Using the degenerate differential operator (22), the normal ordering of the degenerate k th power of the number operator a^+a , namely $(a^+a)_{k,\lambda}$, in terms of boson operators a and a^+ can be written in the form

$$(a^+a)_{k,\lambda} = \sum_{l=0}^k S_{2,\lambda}(k, l)(a^+)^l a^l \quad (\text{see [5]}), \quad (24)$$

where $(x)_{0,\lambda} = 1$ and $(x)_{n,\lambda} = x(x-\lambda)\dots(x-(n-1)\lambda)$, $(n \geq 1)$.

By inversion, from (24), we obtain

$$(a^+)^k a^k = \sum_{l=0}^k S_{1,\lambda}(k, l)(a^+a)_{l,\lambda} \quad (\text{see [5]}). \quad (25)$$

The number states $|m\rangle$, $m = 1, 2, \dots$, are defined as

$$a|m\rangle = \sqrt{m}|m-1\rangle, \quad a^+|m\rangle = \sqrt{m+1}|m+1\rangle \quad (\text{see [13,15,17]}). \quad (26)$$

By (26), we obtain $a^+a|m\rangle = m|m\rangle$ (see [7,13,15,17]). The coherent states $|z\rangle$, where z is a complex number, satisfy $a|z\rangle = z|z\rangle$, $\langle z|z\rangle = 1$. To show a connection to coherent states, we recall that the harmonic oscillator has Hamiltonian $\hat{h} = a^+a$ (neglecting the zero point energy) and the usual eigenstates $|n\rangle$ (for $n \in \mathbb{N}$) satisfying $\hat{h}|n\rangle = n|n\rangle$ and $\langle m|n\rangle = \delta_{m,n}$, where $\delta_{m,n}$ is the Kronecker's symbol.

2 λ -analogue of Lah numbers

First, we consider the analogue of Lah numbers in the view of degenerate version and investigate their properties associated with special numbers. In addition, we derive some new identities arising from degenerate differential operators.

In the view of (15) and (16), we consider the analogue of Lah numbers, which are defined by the degenerate rising factorial and falling factorial sequences as follows:

$$\langle x \rangle_{n,\lambda} = \sum_{k=0}^n L_\lambda(n, k)(x)_{k,\lambda} \quad (27)$$

and

$$(x)_{k,\lambda} = \sum_{n=0}^k (-1)^{n-k} L_\lambda(n, k) \langle x \rangle_{n,\lambda} \quad (n \geq 0). \quad (28)$$

When $\lambda \rightarrow 1$, we have $L_\lambda(n, k) = L(n, k)$.

Theorem 1. For $n, k \geq 0$, we have the explicit formula and generating function of λ -analogue of Lah numbers as follows:

$$L_\lambda(n, k) = \lambda^{n-k} \frac{n!}{k!} \binom{n-1}{k-1}$$

and

$$\frac{1}{k!} \left(\frac{t}{1-\lambda t} \right)^k = \sum_{n=k}^{\infty} L_\lambda(n, k) \frac{t^n}{n!} \quad (k \geq 0).$$

Proof. From (27), we observe that

$$\left(\frac{1}{1-\lambda t}\right)^{\frac{x}{\lambda}} = e_{-\lambda}^x(t) = \sum_{n=0}^{\infty} \langle x \rangle_{n,\lambda} \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n L_{\lambda}(n, k) \langle x \rangle_{k,\lambda} \right) \frac{t^n}{n!} = \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} L_{\lambda}(n, k) \frac{t^n}{n!} \right) \langle x \rangle_{k,\lambda}. \quad (29)$$

On the other hand, we easily obtain

$$(1-\lambda t)^{-\frac{x}{\lambda}} = \left(\frac{\lambda t}{1-\lambda t} + 1 \right)^{\frac{x}{\lambda}} = \sum_{k=0}^{\infty} \left(\frac{t}{1-\lambda t} \right)^k \frac{1}{k!} \langle x \rangle_{k,\lambda}. \quad (30)$$

By (29) and (30), we obtain

$$\frac{1}{k!} \left(\frac{t}{1-\lambda t} \right)^k = \sum_{n=k}^{\infty} L_{\lambda}(n, k) \frac{t^n}{n!} \quad (k \geq 0). \quad (31)$$

From (31), we note that

$$\sum_{n=k}^{\infty} L_{\lambda}(n, k) \frac{t^n}{n!} = \frac{1}{k!} \left(\frac{t}{1-\lambda t} \right)^k = \frac{t^k}{k!} \sum_{n=0}^{\infty} \binom{n+k-1}{n} \lambda^n t^n = \sum_{n=k}^{\infty} \lambda^{n-k} \binom{n-1}{k-1} \frac{t^n}{k! n!}. \quad (32)$$

By comparing the coefficients on both sides of (32), we obtain the explicit formula of $L_{\lambda}(n, k)$. \square

Theorem 2. For $n, k \geq 0$, we have

$$L_{\lambda}(n, k) = \lambda^{n-k} \sum_{l=k}^n (-1)^{n-l} S_{2,\lambda}(l, k) S_{1,-\lambda}(n, l),$$

where $S_{2,\lambda}(n, k)$ are the degenerate Stirling numbers of the second kind.

Proof. By substituting t by $\log_{\lambda}(\frac{1}{1-\lambda t})$ into (7), we obtain

$$\begin{aligned} \frac{1}{k!} \left(\frac{1}{1-\lambda t} - 1 \right)^k &= \sum_{l=k}^{\infty} S_{2,\lambda}(l, k) \frac{1}{l!} \left(\log_{\lambda} \left(\frac{1}{1-\lambda t} \right) \right)^l \\ &= \sum_{l=k}^{\infty} S_{2,\lambda}(l, k) \frac{1}{l!} (-\log_{-\lambda}(1-\lambda t))^l \\ &= \sum_{l=k}^{\infty} (-1)^l S_{2,\lambda}(l, k) \sum_{n=l}^{\infty} S_{1,-\lambda}(n, l) \frac{(-\lambda t)^n}{n!} \\ &= \sum_{n=k}^{\infty} \lambda^n \left(\sum_{l=k}^n (-1)^{n-l} S_{2,\lambda}(l, k) S_{1,-\lambda}(n, l) \right) \frac{t^n}{n!}. \end{aligned} \quad (33)$$

On the other hand, by (31), we obtain

$$\frac{1}{k!} \left(\frac{1}{1-\lambda t} - 1 \right)^k = \sum_{n=k}^{\infty} \lambda^k L_{\lambda}(n, k) \frac{t^n}{n!}. \quad (34)$$

By (33) and (34), we obtain the desired identity. \square

Next, we can obtain the inverse formula of Theorem 2.

Theorem 3. For $n, k \geq 0$, we have

$$S_{2,-\lambda}(n, k) = \sum_{l=k}^n \lambda^{k-l} (-1)^{n-l} L_{\lambda}(l, k) S_{2,\lambda}(n, l),$$

where $S_{2,\lambda}(n, k)$ are the degenerate Stirling numbers of the second kind.

Proof. By substituting t by $t = \frac{1}{\lambda}(1 - e_{\lambda}(-t))$ into (31), we have

$$\begin{aligned} \frac{1}{k!} \left(\frac{1}{e_{\lambda}(-t)} - 1 \right)^k &= \sum_{l=k}^{\infty} \lambda^k L_{\lambda}(l, k) \frac{1}{\lambda^l} \frac{1}{l!} (1 - e_{\lambda}(-t))^l \\ &= \sum_{l=k}^{\infty} \lambda^{k-l} L_{\lambda}(l, k) (-1)^l \sum_{n=k}^{\infty} S_{2,\lambda}(l, k) \frac{(-t)^n}{n!} \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n \lambda^{k-l} (-1)^{n-l} L_{\lambda}(l, k) S_{2,\lambda}(n, l) \right) \frac{t^n}{n!}. \end{aligned} \quad (35)$$

On the other hand, by (7), we set

$$\frac{1}{k!} \left(\frac{1}{e_{\lambda}(-t)} - 1 \right)^k = \frac{1}{k!} (e_{-\lambda}(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,-\lambda}(n, k) \frac{t^n}{n!}. \quad (36)$$

Therefore, by (35) and (36), we obtain the desired result. \square

Now, for any real number λ and any nonnegative integer k , we consider the degenerate rising differential operator, which is given by $\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda}$:

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} = \left(x \frac{d}{dx} \right) \left(x \frac{d}{dx} + \lambda \right) \left(x \frac{d}{dx} + 2\lambda \right) \cdots \left(x \frac{d}{dx} + (k-1)\lambda \right). \quad (37)$$

From (36), we note that

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} x^n = \langle n \rangle_{k,\lambda} x^n \quad (n \geq 1) \quad (38)$$

and

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} (1+x)^n = \sum_{l=0}^n \binom{n}{l} \left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} x^l = \sum_{l=0}^n \binom{n}{l} \langle l \rangle_{k,\lambda} x^l. \quad (39)$$

Theorem 4. Let $f(x) = \sum_{n=0}^{\infty} a_n x^n$ be formal power series. For $k \geq 0$, we have

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} f(x) = \sum_{l=0}^k L_{\lambda}(k, l) \left(x \frac{d}{dx} \right)_{l,\lambda} f(x).$$

Proof. For the formal power series $f(x)$, by applying (27) and (38), we obtain

$$\begin{aligned} \left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} f(x) &= \sum_{n=0}^{\infty} a_n \langle n \rangle_{k,\lambda} x^n \\ &= \sum_{n=0}^{\infty} a_n \sum_{l=0}^k L_{\lambda}(k, l) \langle n \rangle_{l,\lambda} x^n \\ &= \sum_{l=0}^k L_{\lambda}(k, l) \left(x \frac{d}{dx} \right)_{l,\lambda} \sum_{n=0}^{\infty} a_n x^n \\ &= \sum_{l=0}^k L_{\lambda}(k, l) \left(x \frac{d}{dx} \right)_{l,\lambda} f(x). \end{aligned} \quad (40)$$

By comparing the coefficients n on both sides of (40), we obtain the desired identity. \square

Corollary 5. For $k \geq 0$, we have

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} = \sum_{j=0}^k x^j \left(\frac{d}{dx} \right)_{l=j}^j \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j),$$

where $S_{2,\lambda}(n, k)$ are the degenerate Stirling numbers of the second kind.

Proof. Since $(x \frac{d}{dx})_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n, k) x^k (\frac{d}{dx})^k$, from Theorem 4, we observe that

$$\left\langle x \frac{d}{dx} \right\rangle_{k,\lambda} = \sum_{l=0}^k L_\lambda(k, l) \left(x \frac{d}{dx} \right)_{l,\lambda} = \sum_{l=0}^k L_\lambda(k, l) \sum_{j=0}^l S_{2,\lambda}(l, j) x^j \left(\frac{d}{dx} \right)^j = \sum_{j=0}^k x^j \left(\frac{d}{dx} \right)_{l=j}^j \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j). \quad (41)$$

By (41), we obtain the desired identity. \square

The next corollary is the inverse formula of Corollary 5.

Theorem 6. For $k \geq 0$, we have

$$x^k \left(\frac{d}{dx} \right)^k = \sum_{j=0}^k \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda} \sum_{l=j}^k (-1)^{l-j} S_{1,\lambda}(l, k) L_\lambda(l, j),$$

where $S_{1,\lambda}(n, k)$ are the degenerate Stirling numbers of the first kind.

Proof. It is known that

$$x^n \left(\frac{d}{dx} \right)^n = \sum_{k=0}^n S_{1,\lambda}(n, k) \left(x \frac{d}{dx} \right)_{k,\lambda} \quad (\text{see [16]}). \quad (42)$$

Let $f(x)$ be the formal power series with $f(x) = \sum_{n=0}^{\infty} a_n x^n$. From (20), (28), and (38), we note that

$$\begin{aligned} \left(x \frac{d}{dx} \right)_{k,\lambda} f(x) &= \sum_{n=0}^{\infty} a_n (n)_{k,\lambda} x^n = \sum_{n=0}^{\infty} a_n \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \langle n \rangle_{j,\lambda} x^n \\ &= \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \sum_{n=0}^{\infty} a_n \langle n \rangle_{j,\lambda} x^n \\ &= \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda} \sum_{n=0}^{\infty} a_n x^n \\ &= \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda} f(x). \end{aligned} \quad (43)$$

From (43), we have

$$\left(x \frac{d}{dx} \right)_{k,\lambda} = \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda}, \quad (k \geq 0). \quad (44)$$

By (42) and (44), we obtain

$$\begin{aligned} x^n \left(\frac{d}{dx} \right)^n &= \sum_{k=0}^n S_{1,\lambda}(n, k) \left(x \frac{d}{dx} \right)_{k,\lambda} \\ &= \sum_{k=0}^n S_{1,\lambda}(n, k) \sum_{j=0}^k L_\lambda(k, j) (-1)^{k-j} \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda} \\ &= \sum_{j=0}^n \left\langle x \frac{d}{dx} \right\rangle_{j,\lambda} \sum_{k=j}^n (-1)^{k-j} S_{1,\lambda}(n, k) L_\lambda(k, j). \end{aligned} \quad (45)$$

Therefore, we obtain the desired result. \square

The number states $|m\rangle$, that satisfy $a^\dagger a|m\rangle = m|m\rangle$, $\langle m|m\rangle = 1$ and the coherent states $|r\rangle$ that satisfy $a|r\rangle = r|r\rangle$, $\langle r|r\rangle = 1$ are the two most important sets of states within the boson-operator Fock space. They are related by the well-known expression

$$|z\rangle = e^{-\frac{|z|^2}{2}} \sum_{n=0}^{\infty} \frac{z^n}{\sqrt{n!}} |n\rangle \quad (\text{see [5,15,18]}). \quad (46)$$

For $x, y \in \mathbb{C}$, we have

$$\begin{aligned} \langle x|y\rangle &= e^{-\frac{|x|^2}{2}} \sum_{m=0}^{\infty} \frac{(\bar{x})^m}{\sqrt{m!}} e^{-\frac{|y|^2}{2}} \sum_{n=0}^{\infty} \frac{y^n}{\sqrt{n!}} \langle m|n\rangle \\ &= e^{-\frac{|x|^2}{2} - \frac{|y|^2}{2}} \sum_{n=0}^{\infty} \frac{(\bar{x}y)^n}{n!} = e^{-\frac{1}{2}(|x|^2 + |y|^2) + \bar{x}y} \quad (\text{see [5,15,18]}). \end{aligned} \quad (47)$$

By letting $a = \frac{d}{dx}$ and $a^\dagger = x$ (the operator of multiplication by x) and Corollary 5, we rewrite

$$\langle a^\dagger a \rangle_{k,\lambda} = \sum_{j=0}^k (a^\dagger)^j (a)^j \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) \quad (k \in \mathbb{N}). \quad (48)$$

Theorem 7. For $n \geq 0$, we have

$$\langle m \rangle_{k,\lambda} = \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) \langle m \rangle_j \quad (k \geq 1)$$

and

$$\sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) |z|^{2j} = \text{bel}_{k,-\lambda}(|z|^2),$$

where $S_{2,\lambda}(n, k)$ are the degenerate Stirling numbers of the second kind and $\text{bel}_{n,\lambda}(x)$ are the partial degenerate Bell polynomials.

Proof. From (12), (26), and (48), we note that

$$\langle a^\dagger a \rangle_{k,\lambda} |m\rangle = (a^\dagger a)(a^\dagger a + \lambda) \dots (a^\dagger a + (k-1)\lambda) |m\rangle = \langle m \rangle_{k,\lambda} |m\rangle \quad (49)$$

and

$$\langle a^\dagger a \rangle_{k,\lambda} |m\rangle = \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) (a^\dagger)^j (a)^j |m\rangle = \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) \langle m \rangle_j |m\rangle. \quad (50)$$

Thus, by (49) and (50), we obtain

$$\langle m \rangle_{k,\lambda} = \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) \langle m \rangle_j \quad (k \geq 1). \quad (51)$$

Furthermore, from (48), we observe that

$$\begin{aligned} \langle z | \langle a^\dagger a \rangle_{k,\lambda} | z \rangle &= \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) \langle z | (a^\dagger)^j a^j | z \rangle \\ &= \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) (\bar{z})^j z^j \langle z | z \rangle \\ &= \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) |z|^{2j}. \end{aligned} \quad (52)$$

For any $k \in \mathbb{N}$, it is easy to see that

$$a^\dagger a (a^\dagger a)_{k,\lambda} = a^\dagger (aa^\dagger)_{k,\lambda} a$$

and

$$a^\dagger a e_{-\lambda}^{a^\dagger a + \lambda}(t) = e_{-\lambda}^{a^\dagger a + \lambda}(t) a^\dagger a = a^\dagger e_{-\lambda}^{aa^\dagger + \lambda}(t) a = a^\dagger e_{-\lambda}^{a^\dagger a + 1 + \lambda}(t) a. \quad (53)$$

Let $f(t) = \langle z | e_{-\lambda}^{a^\dagger a}(t) | z \rangle$. Then, by (52) and (53), we obtain

$$f(t) = \langle z | e_{-\lambda}^{a^\dagger a}(t) | z \rangle = \sum_{k=0}^{\infty} \frac{t^k}{k!} \langle z | (a^\dagger a)_{k,\lambda} | z \rangle = \sum_{k=0}^{\infty} \sum_{j=0}^k \sum_{l=j}^k L_\lambda(k, l) S_{2,\lambda}(l, j) |z|^{2j} \frac{t^k}{k!}. \quad (54)$$

From (26), we note that

$$\begin{aligned} \frac{\partial f(t)}{\partial t} &= \frac{\partial}{\partial t} \langle z | e_{-\lambda}^{a^\dagger a}(t) | z \rangle = \langle z | a^\dagger a (e_{-\lambda}^{a^\dagger a + \lambda}(t)) | z \rangle \\ &= \langle z | a^\dagger (e_{-\lambda}^{a^\dagger a + \lambda + 1}(t)) a | z \rangle \\ &= e_{-\lambda}^{\lambda+1}(t) \bar{z} z \langle z | e_{-\lambda}^{a^\dagger a}(t) | z \rangle = e_{-\lambda}^{\lambda+1}(t) |z|^2 f(t). \end{aligned} \quad (55)$$

By (55), we observe that

$$\frac{\partial f(t)}{\partial t} = e_{-\lambda}^{\lambda+1}(t) |z|^2 f(t) \iff \frac{f'(t)}{f(t)} = e_{-\lambda}^{\lambda+1}(t) |z|^2, \quad \left[f'(t) = \frac{d}{dt} f(t) \right]. \quad (56)$$

Assume that $f(0) = 1$, for the initial value. Then, by (56), we obtain

$$\log f(t) = \int_0^t \frac{f'(t)}{f(t)} dt = \int_0^t e_{-\lambda}^{\lambda+1}(t) |z|^2 dt = (e_{-\lambda}(t) - 1) |z|^2. \quad (57)$$

From (9) and (57), it can be rewritten as

$$\begin{aligned} f(t) &= e^{|z|^2(e_{-\lambda}(t)-1)} \\ &= \sum_{j=0}^{\infty} |z|^{2j} \frac{1}{j!} (e_{-\lambda}(t) - 1)^j = \sum_{j=0}^{\infty} |z|^{2j} \sum_{n=j}^{\infty} S_{2,-\lambda}(n, j) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \sum_{j=0}^n |z|^{2j} S_{2,-\lambda}(n, j) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!}. \end{aligned} \quad (58)$$

Combining (54) with (58), we obtain

$$\sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=j}^n L_\lambda(n, l) S_{2,\lambda}(l, j) |z|^{2j} \frac{t^n}{n!} = \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!}. \quad (59)$$

By comparing with the coefficients of both sides of (59), we have

$$\text{bel}_{n,-\lambda}(|z|^2) = \sum_{j=0}^n \sum_{l=j}^n L_\lambda(n, l) S_{2,\lambda}(l, j) |z|^{2j}. \quad \square$$

Theorem 8. For $n \geq 0$, we have

$$\text{bel}_{n+1,-\lambda}(|z|^2) = |z|^2 \left(\sum_{l=0}^n \binom{n}{l} (\lambda + 1)_{n-l,\lambda} \text{bel}_{l,-\lambda}(|z|^2) \right),$$

where $\text{bel}_{n,\lambda}(x)$ are the partial degenerate Bell polynomials.

Proof. From (58), we have

$$f(t) = e^{|z|^2(e_\lambda(t)-1)} = \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!}. \quad (60)$$

Differentiating (58) with respect to t , the right-hand side of (60) is

$$\frac{\partial f(t)}{\partial t} = \sum_{n=1}^{\infty} \frac{t^{n-1}}{(n-1)!} \text{bel}_{n,-\lambda}(|z|^2) = \sum_{n=0}^{\infty} \text{bel}_{n+1,-\lambda}(|z|^2) \frac{t^n}{n!}. \quad (61)$$

By (55) and (58), the left-hand side of (60) is

$$\begin{aligned} \frac{\partial f(t)}{\partial t} &= e_{-\lambda}^{\lambda+1}(t) |z|^2 f(t) = e_{-\lambda}^{\lambda+1}(t) |z|^2 \sum_{l=0}^{\infty} \text{bel}_{l,-\lambda}(|z|^2) \frac{t^l}{l!} \\ &= |z|^2 \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} (\lambda+1)_{n-l,\lambda} \text{bel}_{l,-\lambda}(|z|^2) \right) \frac{t^n}{n!}. \end{aligned} \quad (62)$$

Comparing the coefficients of (61) and (62), we obtain the desired identity. \square

In particular, for $|z| = 1$, we have

$$\text{bel}_{n+1,-\lambda} = \sum_{l=0}^n \binom{n}{l} (\lambda+1)_{n-l,\lambda} \text{bel}_{l,-\lambda}. \quad (63)$$

By (47) and (49), we have

$$\langle z | \langle a^\dagger a \rangle_{k,\lambda} | z \rangle = e^{-\frac{|z|^2}{2}} e^{-\frac{|z|^2}{2}} \sum_{m,n=0}^{\infty} \frac{\bar{z}^m z^n}{\sqrt{m!} \sqrt{n!}} \langle n \rangle_{k,\lambda} \langle m | n \rangle = e^{-|z|^2} \sum_{n=0}^{\infty} \frac{|z|^{2n}}{n!} \langle n \rangle_{k,\lambda}. \quad (64)$$

Thus, by (58), (60), and (64), we obtain

$$f(t) = \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!} = e^{-|z|^2} \sum_{n=0}^{\infty} \frac{|z|^{2n}}{n!} \langle n \rangle_{k,\lambda} \quad (k \in \mathbb{N}). \quad (65)$$

3 λ -analogue of r -Lah numbers

In this section, we consider the analogue of r -Lah numbers in the view of degenerate version and investigate their properties associated with special numbers as in Section 2. Moreover, we also derive some combinatorial identities arising from degenerate differential operators.

For $n, r \geq 0$, the r -Lah number is defined by

$$\langle x + 2r \rangle_n = \sum_{k=0}^n L_r(n, k) (x)_k \quad (\text{see [4]}). \quad (66)$$

In the view of (28), we consider the analogue of r -Lah numbers, which are given by

$$\langle x + 2r\lambda \rangle_{n,\lambda} = \sum_{k=0}^n L_{r,\lambda}(n, k) (x)_{k,\lambda} \quad (n \geq 0). \quad (67)$$

Theorem 9. For $n, k \geq 0$, we have the explicit formula and generating function of analogue of r -Lah numbers as follows:

$$L_{r,\lambda}(n, k) = \lambda^{n-k} \binom{n+2r-1}{k+2r-1} \frac{n!}{k!} \quad (n, r, k \geq 0) \quad (68)$$

and

$$\sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!} = \frac{1}{k!} \left(\frac{1}{1-\lambda t} \right)^{2r} \left(\frac{t}{1-\lambda t} \right)^k \quad (k \geq 0). \quad (69)$$

Proof. From (13), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} \langle x + 2r\lambda \rangle_{n,\lambda} \frac{t^n}{n!} &= \left(\frac{1}{1-\lambda t} \right)^{\frac{x+2r\lambda}{\lambda}} \\ &= e_{-\lambda}^{2r\lambda}(t) \cdot e_{-\lambda}^x(t) \\ &= \left(\frac{\lambda t}{1-\lambda t} + 1 \right)^{\frac{x}{\lambda}} \left(\frac{1}{1-\lambda t} \right)^{2r} \\ &= \sum_{k=0}^{\infty} \left(\frac{t}{1-\lambda t} \right)^k \left(\frac{1}{1-\lambda t} \right)^{2r} \frac{1}{k!} (x)_{k,\lambda}. \end{aligned} \quad (70)$$

On the other hand, by (67), we obtain

$$\sum_{n=0}^{\infty} \langle x + 2r\lambda \rangle_{n,\lambda} \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n L_{r,\lambda}(n, k) (x)_{k,\lambda} \right) \frac{t^n}{n!} = \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!} \right) (x)_{k,\lambda}. \quad (71)$$

Thus, by (70) and (71), we obtain

$$\frac{1}{k!} \left(\frac{t}{1-\lambda t} \right)^k \left(\frac{1}{1-\lambda t} \right)^{2r} = \sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!} \quad (k \geq 0). \quad (72)$$

From (72), we obtain

$$\sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!} = \frac{t^k}{k!} \left(\frac{1}{1-\lambda t} \right)^{k+2r} = \frac{t^k}{k!} \sum_{n=0}^{\infty} \binom{n+k+2r-1}{n} t^n \lambda^n = \sum_{n=k}^{\infty} \lambda^{n-k} \binom{n+2r-1}{k+2r-1} \frac{n!}{k!} \frac{t^n}{n!}. \quad (73)$$

By comparing the coefficients on both sides of (73), we have the desired result. \square

By (1) and Theorem 1, we easily obtain

$$\begin{aligned} \sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!} &= \frac{1}{k!} \left(\frac{t}{1-\lambda t} \right)^k e_{-\lambda}^{2r}(t) \\ &= \left(\sum_{l=k}^{\infty} L_{\lambda}(l, k) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \frac{(2r)_{m,-\lambda}}{m!} t^m \right) \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n \binom{n}{l} L_{\lambda}(l, k) \langle 2r \rangle_{n-l,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \quad (74)$$

By comparing the coefficients on both sides of (74), we obtain

$$L_{r,\lambda}(n, k) = \sum_{l=k}^n \binom{n}{l} L_{\lambda}(l, k) \langle 2r \rangle_{n-l,\lambda} \quad (n, k \geq 0). \quad (75)$$

Theorem 10. For $n, k, r \geq 0$, we have

$$\left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} = \sum_{l=k}^n L_{r,\lambda}(l, k) (-1)^{n-l} S_{2,-\lambda}(n, l) \lambda^{k-l},$$

where $\left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda}$ is the degenerate r -Stirling number of the second kind.

Proof. By substituting t by $\frac{1}{\lambda}(1 - e_{-\lambda}(t))$ into (69), the left-hand side of (69) is

$$\begin{aligned} \sum_{l=k}^{\infty} L_{r,\lambda}(l, k) \frac{1}{l!} \frac{(1 - e_{-\lambda}(t))^l}{\lambda^l} &= \sum_{l=k}^{\infty} L_{r,\lambda}(l, k) (-1)^l \lambda^{-l} \sum_{n=l}^{\infty} S_{2,-\lambda}(n, l) \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n L_{r,\lambda}(l, k) S_{2,-\lambda}(n, l) (-1)^l \lambda^{-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (76)$$

The right-hand side of (69) is

$$\frac{1}{k!} e_{-\lambda}^{-2r}(t) (e_{-\lambda}^{-1}(t) - 1)^k \lambda^{-k} = \frac{1}{k!} e_{\lambda}^{2r}(-t) (e_{\lambda}(-t) - 1)^k \lambda^{-k} = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} \lambda^{-k} (-1)^n \frac{t^n}{n!}. \quad (77)$$

Therefore, by (76) and (77), we obtain the desired identity. \square

Theorem 11. For $n, k, r \geq 0$, we have

$$L_{r,\lambda}(n, k) = \lambda^{n-k} \sum_{l=k}^n (-1)^{n-l} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} S_{1,-\lambda}(n, l).$$

Proof. From (14), the generating function of $\left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda}$ is given by

$$\frac{1}{k!} e_{\lambda}^{2r}(t) (e_{\lambda}(t) - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} \frac{t^n}{n!}. \quad (78)$$

Let us take $t = \log_{\lambda}(\frac{1}{1-\lambda t})$ in (78). Then, from (8), we have

$$\begin{aligned} \frac{1}{k!} \left(\frac{1}{1-\lambda t} \right)^{2r} \left(\frac{\lambda t}{1-\lambda t} \right)^k &= \sum_{l=k}^{\infty} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} \frac{1}{l!} \left(\log_{\lambda} \frac{1}{1-\lambda t} \right)^l = \sum_{l=k}^{\infty} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} \frac{1}{l!} (-\log_{\lambda}(1-\lambda t))^l \\ &= \sum_{l=k}^{\infty} (-1)^l \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} \sum_{n=l}^{\infty} S_{1,\lambda}(n, l) (-\lambda)^n \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n (-1)^{n-l} \left\{ \begin{matrix} n+2r \\ k+2r \end{matrix} \right\}_{2r,\lambda} S_{1,\lambda}(n, l) \right) \lambda^n \frac{t^n}{n!}. \end{aligned} \quad (79)$$

On the other hand, by (69), we obtain

$$\frac{1}{k!} \left(\frac{1}{1-\lambda t} \right)^{2r} \left(\frac{\lambda t}{1-\lambda t} \right)^k = \sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \lambda^k \frac{t^n}{n!}. \quad (80)$$

Therefore, by (79) and (80), we obtain the desired result. \square

Theorem 12. For $n, k \in \mathbb{N}$ with $n \geq k$ and $r \in \mathbb{Z}$ with $r \geq 0$, we have a recurrence relation

$$L_{r,\lambda}(n+1, k) = L_{r,\lambda}(n, k-1) + ((n+k)\lambda + 2r\lambda) L_{r,\lambda}(n, k).$$

Proof. From (67), we note that

$$\begin{aligned} \sum_{k=0}^{n+1} L_{r,\lambda}(n+1, k) (x)_{k,\lambda} &= \langle x + 2r\lambda \rangle_{n+1,\lambda} = \langle x + 2r\lambda \rangle_{n,\lambda} (x + 2r\lambda + n\lambda) \\ &= \sum_{k=0}^n L_{r,\lambda}(n, k) (x)_{k,\lambda} (x - k\lambda + k\lambda + n\lambda + 2r\lambda) \\ &= \sum_{k=0}^{n+1} \{ L_{r,\lambda}(n, k-1) + ((n+k)\lambda + 2r\lambda) L_{r,\lambda}(n, k) \} (x)_{k,\lambda}. \end{aligned} \quad (81)$$

By comparing the coefficients on both sides of (81), we have the desired recurrence relation. \square

To obtain next theorem, we observe that

$$\left\langle x \frac{d}{dx} + 2r\lambda \right\rangle_{k,\lambda} x^n = \langle n + 2r\lambda \rangle_{k,\lambda} x^n \quad (n \geq 1). \quad (82)$$

Theorem 13. Let $f(x) = \sum_{n=0}^{\infty} a_n x^n$ be the formal power series. For $k \geq 0$, we have

$$\left\langle x \frac{d}{dx} + 2r\lambda \right\rangle_{k,\lambda} f(x) = \sum_{l=0}^k L_{r,\lambda}(k, l) \left\langle x \frac{d}{dx} \right\rangle_{l,\lambda} f(x).$$

Proof. For the formal power series $f(x)$, by applying (27) and (82), we obtain

$$\begin{aligned} \left\langle x \frac{d}{dx} + 2r\lambda \right\rangle_{k,\lambda} f(x) &= \sum_{n=0}^{\infty} a_n \langle n + 2r\lambda \rangle_{k,\lambda} x^n \\ &= \sum_{n=0}^{\infty} a_n \sum_{l=0}^k L_{r,\lambda}(k, l) \langle n \rangle_{l,\lambda} x^n \\ &= \sum_{l=0}^k L_{r,\lambda}(k, l) \left\langle x \frac{d}{dx} \right\rangle_{l,\lambda} \sum_{n=0}^{\infty} a_n x^n = \sum_{l=0}^k L_{r,\lambda}(k, l) \left\langle x \frac{d}{dx} \right\rangle_{l,\lambda} f(x). \end{aligned} \quad (83)$$

By comparing the coefficients n on both sides of (83), we obtain the desired identity. \square

Corollary 14. For $k \geq 0$, we have

$$\left\langle x \frac{d}{dx} + 2r\lambda \right\rangle_{k,\lambda} = \sum_{j=0}^k x^j \left(\frac{d}{dx} \right)^j \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j).$$

Proof. Since $(x \frac{d}{dx})_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n, k) x^k (\frac{d}{dx})^k$, from Theorem 13, we observe that

$$\begin{aligned} \left\langle x \frac{d}{dx} + 2r\lambda \right\rangle_{k,\lambda} &= \sum_{l=0}^k L_{r,\lambda}(k, l) \left\langle x \frac{d}{dx} \right\rangle_{l,\lambda} \\ &= \sum_{l=0}^k L_{r,\lambda}(k, l) \sum_{j=0}^l S_{2,\lambda}(l, j) x^j \left(\frac{d}{dx} \right)^j = \sum_{j=0}^k x^j \left(\frac{d}{dx} \right)^j \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j). \end{aligned} \quad (84)$$

By (84), we obtain the desired identity. \square

From Corollary 14, it can be rewritten as

$$\langle a^\dagger a + 2r\lambda \rangle_{k,\lambda} = \sum_{j=0}^k (a^\dagger)^j (a)^j \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j), \quad (k \in \mathbb{N}).$$

The λ -analogue of r -Lah numbers will be studied in a similar way to λ -analogue of Lah numbers.

Theorem 15. For $n \geq 0$, we have

$$\left(\frac{1}{1 - \lambda t} \right)^{2r} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!} = \sum_{j=0}^n \sum_{l=j}^n L_{r,\lambda}(n, l) S_{2,\lambda}(l, j) |z|^{2j},$$

where $S_{2,\lambda}(n, k)$ are the degenerate Stirling numbers of the second kind and $\text{bel}_{n,\lambda}(x)$ are the partial degenerate Bell polynomials.

Proof. In the same way in Theorem 7, we observe that

$$\langle a^\dagger a + 2r\lambda \rangle_{k,\lambda} |m\rangle = (a^\dagger a + 2r\lambda)(a^\dagger a + 2r\lambda + \lambda) \dots (a^\dagger a + 2r\lambda) + (k-1)\lambda |m\rangle = \langle m + 2r\lambda \rangle_{k,\lambda} |m\rangle \quad (85)$$

and

$$\begin{aligned} \langle a^\dagger a + 2r\lambda \rangle_{k,\lambda} |m\rangle &= \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) (a^\dagger)^j (a)^j |m\rangle \\ &= \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) (m)_j |m\rangle. \end{aligned} \quad (86)$$

Thus, by (85) and (86), we obtain

$$\langle m + 2r\lambda \rangle_{k,\lambda} = \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) (m)_j, \quad (k \geq 1). \quad (87)$$

From (87), we observe that

$$\begin{aligned} \langle z | \langle a^\dagger a + 2r\lambda \rangle_{k,\lambda} | z \rangle &= \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) \langle z | (a^\dagger)^j (a)^j | z \rangle \\ &= \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) (\bar{z})^j z^j \langle z | z \rangle \\ &= \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) |z|^{2j}. \end{aligned} \quad (88)$$

Let $f(t) = \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda}(t) | z \rangle$. Then, by (88), we obtain

$$f(t) = \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda}(t) | z \rangle = \sum_{k=0}^{\infty} \frac{t^k}{k!} \langle z | \langle a^\dagger a + 2r\lambda \rangle_{k,\lambda} | z \rangle = \sum_{k=0}^{\infty} \sum_{j=0}^k \sum_{l=j}^k L_{r,\lambda}(k, l) S_{2,\lambda}(l, j) |z|^{2j} \frac{t^k}{k!}. \quad (89)$$

From (53), we note that

$$\begin{aligned} \frac{\partial f(t)}{\partial t} &= \frac{\partial}{\partial t} \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda}(t) | z \rangle = \langle z | (a^\dagger a + 2r\lambda) e_{-\lambda}^{a^\dagger a + 2r\lambda + \lambda}(t) | z \rangle \\ &= \langle z | (a^\dagger a) e_{-\lambda}^{a^\dagger a + 2r\lambda + \lambda}(t) | z \rangle + 2r\lambda \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda + \lambda}(t) | z \rangle \\ &= \langle z | a^\dagger (e_{-\lambda}^{a^\dagger a + 2r\lambda + \lambda + 1}(t)) a | z \rangle + 2r\lambda e_{-\lambda}^{\lambda}(t) \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda}(t) | z \rangle \\ &= e_{-\lambda}^{\lambda+1}(t) \bar{z} z \langle z | e_{-\lambda}^{a^\dagger a}(t) | z \rangle + 2r\lambda e_{-\lambda}^{\lambda}(t) \langle z | e_{-\lambda}^{a^\dagger a + 2r\lambda}(t) | z \rangle \\ &= \{e_{-\lambda}^{\lambda+1}(t) |z|^2 + 2r\lambda e_{-\lambda}^{\lambda}(t)\} f(t). \end{aligned} \quad (90)$$

By (90), we observe that

$$\frac{\partial f(t)}{\partial t} = e_{-\lambda}^{\lambda+1}(t) |z|^2 f(t) \Leftrightarrow \frac{f'(t)}{f(t)} = e_{-\lambda}^{\lambda+1}(t) |z|^2 + 2r\lambda e_{-\lambda}^{\lambda}(t), \quad (91)$$

where $f'(t) = \frac{d}{dt} f(t)$.

Assume that $f(0) = 1$, for the initial value. Then, by (91), we obtain

$$\log f(t) = \int_0^t \frac{f'(t)}{f(t)} dt = \int_0^t \{e_{-\lambda}^{\lambda+1}(t) |z|^2 + 2r\lambda e_{-\lambda}^{\lambda}(t)\} dt = (e_{-\lambda}(t) - 1) |z|^2 - 2r \log(1 - \lambda t). \quad (92)$$

From (9) and (92), it can be rewritten as

$$f(t) = e^{|z|^2(e_{-\lambda}(t)-1)} e^{-2r \log(1-\lambda t)} = \left(\frac{1}{1-\lambda t} \right)^{2r} \sum_{j=0}^{\infty} |z|^{2j} \frac{1}{j!} (e_{-\lambda}(t) - 1)^j$$

$$\begin{aligned}
&= \left(\frac{1}{1-\lambda t} \right)^{2r} \sum_{j=0}^{\infty} |z|^{2j} \sum_{n=j}^{\infty} S_{2,-\lambda}(n, j) \frac{t^n}{n!} \\
&= \left(\frac{1}{1-\lambda t} \right)^{2r} \sum_{n=0}^{\infty} \sum_{j=0}^n S_{2,-\lambda}(n, j) \frac{t^n}{n!} |z|^{2j} \\
&= \left(\frac{1}{1-\lambda t} \right)^{2r} \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!}.
\end{aligned} \tag{93}$$

Combining (89) with (93), we obtain

$$\sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=j}^n L_{r,\lambda}(n, l) S_{2,\lambda}(l, j) |z|^{2j} \frac{t^n}{n!} = \left(\frac{1}{1-\lambda t} \right)^{2r} \sum_{n=0}^{\infty} \text{bel}_{n,-\lambda}(|z|^2) \frac{t^n}{n!}. \tag{94}$$

By comparing with the coefficients of both sides of (94), we have the desired identity. \square

Open problem. What are the interesting properties of degenerate versions and analogue versions of r ($r \in \mathbb{N}$)-Whitney Lah numbers, respectively?

4 Conclusion

In this article, we introduced the λ -analogue of Lah numbers and λ -analogue of r -Lah numbers as degenerate version, respectively. We also considered the degenerate rising differential operators (37) from degenerate differential operators defined by Kim and Kim [3]. We derived combinatorial identities using the analogue rising differential operators in Theorems 4, 6, 13 and Corollaries 5 and 14. From these identities, we obtained interesting identities, which the partial degenerate (r -)Bell polynomials are represented by means of λ -analogue of (r -)Lah numbers and the degenerate Stirling numbers of the second kind by identifying formally $a = \frac{d}{dx}$ and $a^\dagger = x$, which satisfy $[\frac{d}{dx}, x] = 1$.

We propose an open problem earlier for researchers in this field and continue to study effective ways to find properties of combinatorial numbers using the boson operators.

Acknowledgement: The authors thank Jangjeon Institute for Mathematical Science for the support of this research.

Funding information: This work was supported by the Basic Science Research Program, the National Research Foundation of Korea (NRF-2021R1F1A1050151).

Author contributions: All authors worked equally.

Conflict of interest: The authors declare no conflict of interest.

Ethical approval and consent to participate: The authors declare that there is no ethical problem in the production of this article.

Data availability statement: Not applicable.

References

- [1] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Util. Math. **15** (1979), 51–88.
- [2] D. S. Kim and T. Kim, *A note on a new type of degenerate Bernoulli numbers*, Russ. J. Math. Phys. **27** (2020), no. 2, 227–235, DOI: <https://doi.org/10.48550/arXiv.2002.04520>.
- [3] T. Kim and D. S. Kim, *On some degenerate differential and degenerate difference operator*, Russ. J. Math. Phys. **29** (2022), no. 1, 37–46, DOI: <https://doi.org/10.1134/S1061920822010046>.
- [4] T. Kim and D. S. Kim, *r*-extended Lah-Bell numbers and polynomials associated with *r*-Lah numbers, Proc. Jangjeon Math. Soc. **24** (2021), no. 1, 1–10, DOI: <https://arxiv.org/abs/2008.06155>.
- [5] T. Kim, D. S. Kim, and H. K. Kim, *Some identities involving degenerate Stirling numbers arising from normal ordering*, AIMS Math. **7** (2022), no. 9, 173577–17368, <http://www.aimspress.com/journal/Math>.
- [6] T. Kim, D. S. Kim, and D. V. Dolgy, *On partially degenerate Bell numbers and polynomials*, Proc. Jangjeon Math. Soc. **20** (2017), no. 3, 337–345.
- [7] T. Kim, D. S. Kim, H. Lee, and J-W. Park, *A note on degenerate r-Stirling numbers*, J. Inequal. Appl. **2020** (2020), no. 4, 521–531, DOI: <https://doi.org/10.1186/s13660-020-02492-9>.
- [8] S. Araci, *A new class of Bernoulli polynomials attached to polyexponential functions and related identities*, Adv. Stud. Contemp. Math. (Kyungshang) **31** (2021), no. 2, 195–204.
- [9] L. Comtet, *Advanced combinatorics*, The Art of Finite and Infinite Expansions. Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht, 1974.
- [10] M. Petkovšek and T. Pisanski, *Combinatorial interpretation of unsigned Stirling and Lah numbers*, Pi Mu Epsilon J. **12** (2007), 417.
- [11] Y. Simsek, *Construction of generalized Leibnitz type numbers and their properties*, Adv. Stud. Contemp. Math. (Kyungshang) **31** (2021), no. 3, 311–323.
- [12] A. Z. Broder, *The r-Stirling numbers*, Discrete Math. **49** (1984), 241–259.
- [13] P. Blasiak, K. A. Penson, and A. I. Solomon, *The Boson normal ordering problem and generalized Bell numbers*, Ann. Comb. **7** (2003), 127–139, DOI: <https://doi.org/10.48550/arXiv.quant-ph/0212072>.
- [14] J. Katriel, *Combinatorial aspects of boson algebra*, Lett. Nuovo Cimento **10** (1974), 565–567.
- [15] T. Kim, D. S. Kim, and H. K. Kim, *Degenerate r-Bell polynomials arising from degenerate normal ordering*, J. Math. **2022** (2022), Art ID 2626249, 6 pp, DOI: <http://doi.org/10.1155/2022/2626249>.
- [16] A. M. Navon, *Combinatorics and fermion algebra*, Nuovo Cimento **16B** (1973), 324–330.
- [17] T. Kim, D. S. Kim, and H. K. Kim, *Normal ordering of degenerate integral powers of number operator and its applications*, Appl. Math. Sci. Eng. **30** (2022), no. 1, 440–447, DOI: <https://doi.org/10.1080/27690911.2022.2083120>.
- [18] A. Perelomov, *Generalized coherent states and their applications*, Texts and Monographs in Physics, SpringerVerlag, Berlin, 1986.